Final Test

Date Class Name Score

<1-5> Write the correct word for each sentence.

lawyer breathtaking enormous graduated catchy
1. The surgeon from Harvard University in 2004.
2. A'lot of Korean pop songs are and easy to sing along to.
3. The tried to convince the jury that the man was innocent.

4. \We visited Niagara Falls last year and the views were

5. I could not finish eating the cookie.

<6-9> Answer the following questions.

6. What belongs in the blank below?

Thomas lives Boston at the moment.

7. What does the word “preheat” mean?

8. What is the past tense form of the word “go”?

9. What is the adjective in the following sentence?

I saw that the boy had blue eyes.




<10-13> Read the passage below and answer the questions.

Airplane engines release large amounts of carbon dioxide and other harmful gases
into the earth’s atmosphere. These chemicals add to the problem of global
warming. Many laws have been put in place to make car engines better for the
environment, but little has been done to change the damage that aircraft engines
make.

Noise pollution is another problem caused by an increase in the amount of airplanes
in our skies. In addition to the sound of the large engines, many airplanes produce
an extremely loud sound wave. If an airplane is flying at a low altitude, this sound
wave can cause big problems for many people. Some governments have placed
restrictions on airlines to try to solve these . Unfortunately, the
demand for air travel means that these pollution issues may only get worse.

10. What is the topic of this passage?
a. engines

b. pollution

c. carbon dioxide

d. sound

11. Which best fits in the blank?
a. issues

b. engines

c. laws

d. people

12. Which would the author not agree with?

a. Noise pollution is not a problem.

b. Things are being done to try to solve pollution problems.
c. Air pollution is a problem.

d. Global warming is a problem.

13. Which could replace the bolded phrase above?
a. law

b. noise

C. government

d. air




<14-16> Read the passage below and answer the questions.

Famine has been a major problem in North Korea for many years. Millions of
people have become sick or have even died due to a lack of food. The
government’s failure to control agriculture and food supply in the country is the
main problem. Lack of technology and older farming methods have led to famines
in the country. In addition, huge floods in 1995 destroyed a large amount of the
food being grown in North Korea.

Although the availability of food has improved, is still not self-
sufficient. Some experts say that one third of the children in North Korea are sick
due to a lack of food. One report suggested that most North Korean people only
eat 700 calories a day. North Korea still relies on other countries for food aid.
Countries such as South Korea and China continue to donate rice and grain to the
country.

14. Which best fits in the blank?
a. South Korea

b. North Korea

c. 1997

d. famine

15. Who is most to blame for the North Korean famine problem?
a. China

b. South Korea

c. North Korea

d. the USA

16. Which could best replace the bolded word above?
a. although

b. less

C. per

d. the




